13 GA. GALV. COMMERCIAL
TOP ROLLER BRACKET
ATTACHED W/(4> 174’ x
S5/8° HEX HEAD SCREWS
PER BRACKET b L

TYPICAL TOP FIXTURES

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (@) 5/16° x 3/4"
BOLT & NUT PER BRACKET

4 1/72° 20GA. R-TRUSS ATTACHED
W/ (@ 1/4" x 5/8°

HEX HEAD SCREWS AT

EACH CENTER STILE

27 10 BALL STEEL DR
10 BALL NYLDN 9*
LONG STEM ROLLER

N.T.S.
SEE (TABLE 2> ON PAGE 3 FOR

Q GLAZED SECTIONS STRUT
5 AND STILE LAYDUT

SEE PAGE 2 FOR OPTIONAL

14GA, CENTER HINGE
ATTACHED W/ (4> 1/4*
x S5/87 HEX HEAD SCREWS

TYPICAL CENTER HINGE

©,

14 GA SHEARED #3 ROLLER
CARRIERS ATTACHED TO 4 1/2°
20GA R-TRUSS W/(2) 1/4 X 3/4
HEX HEAD TEX SCREW:!

4 1/72° 20GA.

INSIDE ELEVATION
N.T.S.

14 GA. END HINGE ATTACHED
W/ @ 1/4* x 5/8° '
HEX HEAD SCREWS

14GA. ROLLER CARRIERS ATTACHED
HEX HEAD SCREWS PER CARRIER

2’ 10 BALL STEEL DR
10 BALL NYLDN 9°
LONG STEM ROLLER

TO END STILE W/ (3) 1/4° x 5/8"

RECOMMENDED SECTION CONFIGURATION N.T.S. STILE STIFFENERS ¢S
e — LOCATED IN HINGE HOLECS)
1 ON TOP SECTION ONLY
i
- / HOLES FOR STRUT
T ATTACHMENT CIF
1 i STRUT IS REQIURED)
i i T
<TOPY
EMBOSSMENTS : i l |
NOT SHOWN N J 8 j . . 3 : D
FOR CLARITY i : i THROUGH
H
; 3 4\ L TYPICAL STILE STIFFENER( 5
i i N.T.S.
4 | B
: A |
— [
SEE TABLE 4 ON PAGE 3
FOR STILE PLACEMENTS PER STRUT SPACING = °
f 16'-0° MAX |

3’ 20GA. STRUT
ATTACHED W/

@> 174" X 374
HEX HEAD SCREWS .
AT END AND CENTER
STILES

BOTTOM BRACKET
13 GA. THICK ATTACHED
W/(3> 1/74° X 3/74°

SECTI

N (M M
24 GA SKIN (M950»

13 GA COMMERCIAL

TOP FIXTURE ATTACHED W/

(4) 174" x 5/8° HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET ATTACHED
W/(@> 1/4° x 1/72° BOLT AND NUTS

4 1/2°H X 20 GA. GALV. STEEL
R~TRUSS <1> PER SECTION
ATTACHED W/ (2 1/4° x 5/8°
HEX HEAD SCREWS AT EACH END
STILE AND (2> 1/4* x 5/8° HEX
HEAD SCREWS AT EACH CENTER
1,/ STILE.

(1> 3 x 20GA STRUT ATTACHED
w/(@> 1/4 X 5/8 SCREWS AT
EACH END AND CENTER STILE

BOTTOM BRACKET
ATTACHED

W/ (3) 1/4" x 3/4"
HEX HEAD SCREWS

CONT. STEEL RETAINER
W/ BOTTOM SEAL

ON A—A (SIDE VIEW)

HEX HEAD SCREWS N.TS.

R-TRUSS
ATTACHED W/ (@
174’ x 5/8° HEX

HEAD SCREWS

TYPICAL END HINGE

N.T.S.

©

3 3/4° MIN,
SIDERDOM 20 GA. GALV. STEEL END STILE:
DPTIONAL STOP
—— MOLDING > 20 GA
CENTER STILES (1) 7/16™ DIA.
N\ R
4 | 1| N

27 10 BALL STEEL DR
10 BALL NYLDN S
LONG STEM ROLLER

TYPICAL BOTTOM BRACKET
N.T.S.

O

S/16° x 1 5/8" LAG
SCREW (D> PER
JAMB BRACKET

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE, AND I=1.0):

140 127 120 115 110

4 1/2°H X 20 GA.
R-TRUSS

(1> 1/4-20 x 5/8'TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

TRACK MOUNTING DETAIL

2" GALV. STEEL TRACK
TRACK THICKNESS .063"

CONT. VERTICAL JAMB 2X6
SOUTHERN YELLOW PINE
(NO. 2 OR BETTER)

WIND SPEED (MPH)
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT | 30’ 15’ 25’ 15’ 25’

INTERIOR OF GARAGE

MAX. WIDTH 16°0"

DESIGN LoADS [ | H'l HEEEEE
+237.6 LBS/FT
2270.4 (BS/FT

SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE_VERTICAL JAMSBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+237.6 LBS/FT & —270.4 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019") ROLLED FORMED LIGHT
COMMERCIAL QUALITY ,

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

6. AMARR MANUFACTURES AND DISTRIBUTES GARAGE DOORS UNDER MANY
BRAND LABELS. PLEASE SEE AMARR—MANUFACTURED PRIVATE LABEL CHART
FOR REFERENCE OF EQUIVALENT PRODUCTS FOR WINDLOAD APPROVAL.

7. REFER TO TABLES ON THE PAGE 3 FOR ADDITIONAL DOOR WIDTHS

AND THEIR DESIGN PRESSURES

8. PANEL STAMP DOES NOT EFFECT WINDLOAD CAPABILITIES.

LARGE MISSILE
IMPACT RESISTANT

SPLICE TRACKS AT THIS

S
(SPLICED

LOCATION W/(4) 1/4"-20
TRACK SPLICE BOLTS &
NUTS SECURE TO JAMB
WITH (3) 5/16" DIA. x
1-5/8" LAG BOLTS

—

D
(THROUGH>
H

(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

C_i—_ ;
]‘_L__

A

SEE (TABLE 3> DN PAGE 3
FOR JAMB BRACKET SPACING

TRACK CONFIGURATION FOR 6’6" UP TO 14’ TALL DOORS

N.T.S.
REV | DESCRIPTION OF REVISIONS DAE  [BY
A | WND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12|RR
B | ADDED GLAZING NOTE 12/19/12 |RR
14" HEIGHT |33 “““\O\F\T\ W
(DOOR_HEIGHT = 7 - Q."EEA]' \|
SUBJECT TO W= A g 85
WEIGHT LIMITATIONS) = £ R ’ £48
DESIGN LOADS| & T {';} Sg
+29.7 PSF | 5E s 56
-33.8 PSF | £5 4 ag
= 7/ £z
TEST LOADS | 2§ g 5%
+44.5 PSF |gE S&xs 8%
-50.7 PSF |53 ¢ \\\«‘?f T8
URee 152 W(SSopae g
G 8 ACTRCS He
IMPACT | £5 ]
resisTant |~ 5 X 39
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000
SZE| DRAWN BY  BHG| DATE 11/20/09 DRAWNG NUMBER
B | cHeckep BY DL | DA 11/20/09 IRC-6016-140-24-G
SHEET 1 OF 3




033° GALV STEEL INTERIOR IMPACT WINDOW FRAME
033 GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS

DECORATIVE PLASTIC INJECT
MOLDED EXTERIOR WINDOW F

S5/16" OVERALL
1/8° CLEAR ANNEALED GLASS

.090° PVB INTERLAYER
/1/8’ CLEAR ANNEALED GLASS

25 GA. STEEL DDOR SKIN

MANUFACTURED BY GUARDIAN

SUREBOND SB-190
STRUCTURAL ADHESIVE

2. 3716° X 1/2° SCREW - USED TO
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3.11/64" X 1/2° SCREW - USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL

N.T.S.

10-5/8"

IMPACT GLAZING FASTENER DETAIL
N.T.S.

.g“...ﬁfn...ngx

TOP SECTION

=" = — A

H H ! B

INTERMEDIATE SECTION

OPTIONAL SHORT PANEL GLAZED SECTION STRUT AND STILE LAYOUT

DOOR HEIGHT

WOOD JAMB ATTACHMENT TO STRUCTURE

VERTICAL JAMB ATTACHMENT TO wOOD F TRUCTUR
5/16° X 3’ LAG SCREWS STARTING 6” FROM ENDS THEN 20° OC. <1 1/2* EMBEDMENT
2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
HILTI KWIK BOLT 3/8° X 4° STARTING 6 FROM ENDS THEN 24° OC. (2 1/2° EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4‘ STARTING 6 FROM ENDS THEN 18" 0O.C. <1 1/4“ EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8° X 4° STARTING 6° FROM ENDS THEN 24 0O.C. (2 1/2° EMBEDMENT)
X 6 VERT AMB A NT Hi W _C-
SIMPSON 1/74” X 3’ TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS
(3" APART> AT 8” OC. (1 1/2° EMBEDMENT>
HILTI 1/4* X 2-3/4* KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF
FASTENERS (3“ APART> AT 8“ O.C. <1 1/4" EMBEDMENT)

X VERTICAL_JAMB ATTACHMENT T T —90_BLOCK ¢ PS
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6” FROM ENDS THEN 207 OC. (1 1/4°
EMBEDMENT> ¢OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

%L AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE,
*PREPARATION DOF wWDOD JAMBS BY OTHERS

MMM

VERTICAL UFT

1 A 1
WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
E- STRUCTURE STRUCTURE STRUCTURE STRUCTURE
& - - F
& \
& 1 1 1 \ \ a1
g = | i
J LT J J T
172" MIN 2-3/4" MIN 1-1/2" |MIN 4
2X6 JAMB
TYP. 3* MIN
REV | DESCRIPTION OF REVISIONS DATE  [BY
A | WND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12|RIR
B | ADDED GLAZNG NOTE 12/19/12[RIR
O
MAX SIZE | _= ~— gF
16" WDTH_ | 538 ==
14° HEIGHT | 2§ £~
(oor HEKGHT | =T -5
SUBJECT TO e 8 =
WEIGHT LIMITATIONS)| 5, € £35
DESIGN LOADS| =i 5¢
+29.7 PSF | &F %5
-33.8 PSF | £5 24
TEST LOADS | 5§ g2
+44.5 PSF | €2 33
-50.7 PSF | &3 =
LARGE 2E e
MISSILE £2 26
IMPACT 2z e
RESISTANT & 58
=
s\l |
t Q
3 2 §
& | Z z
b= & S 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000
LI L SIE| DRAWNBY  BHG| DATE 11/20/08 DRAMING NUMBER
AVAILABLE TRACK CONFIGURATIONS B CHECKED BY DLJ | DATE 11/20/09 IRC‘6016'140"24‘G
N.T.S.
SHEET 2 OF 3




TABLE 1 TABLE 4

DOOR [STRUT SPACING (BASED ON RECOMMENDED Section Center Stﬁ"e Locations
HEIGHT SECTION CONFIGURATION) TOP | Panel Type [——{Heasuec fom Lef Rdey)
A B C D E F G H T (f) (in) | (in) | (in (in) (in)
o " " " " " 10'0 Long 30.00] 60.00 | 90.00
6 ‘? 5 1/2" 16" 34" 52" 70 172 10°0 [Oak Summit|30.63] 60.00 | 89.38
7 51/2"| 16" | 37" | 58 76 1/2" 10°0 Short _ |48.41] 71.59
re |52 13" ] 81" | 49" | 67 82 1/2 3 ook Sl #s st 72 00 5565
8 |51/2"[ 16" | 34" | 52" | 70" 88 1/2" 750 | Shot |48.81] 72.00] 95.19
86" |51/2"| 16" | 37" | 58" | 76" 94 1/2" 1;; s k'—gng . ig'gg ;ggg gg-gi
ummty A . B
9 51/2"| 13" | 31" | 49" | 67" | 85" 100 1/2" 53 aShon 29641 73.00 | 9636
96" |51/2"| 16" | 34" | 52" | 70" | 88" 106 1/2" g‘: s k'—gng i;g? 7:38 gg-fg
v " 0 " " " " r ' ak Summit|49. 74. )
10 51/2"| 16" | 37" | 58" | 76" | 94 112 1/2 157 Short156.641 74001 97 36
10'6" (51/2"] 16" | 37" | 58" | 79" | 100" 118 1/2" 12'6 Long |61.17|75.00] 98.83
; m ] - m - m x - 726 |Oak Summit|50.56| 75.00 | 99.44
11 51/2"] 16" | 34" | 52" | 70" | 88" [106 124 1/2 %5 Stot 150671 5.001 5633
11'6" {51/2"] 16" | 37" | 58" | 76" | 94" 112" 130 1/2" 128 Long__|52.10] 76.00 | 99.90
] " " " " " " " " 12’8 |Oak Summit{51.31] 76.00 | 100.69
12 51/2"| 16" | 37" | 58" | 79" |100"|118 136 1/2 8 Stot 5767176 06 1700.33
12'6" |51/2"]| 16" | 34" | 52" | 70" | 88" |106"} 124" |1421/2" 7210| Long  |53.10] 77.00100.90
] " " " " " " " " " 12110 |Oak Summit{52.06| 77.00 |101.94
13 51/2"| 16" | 37" | 58" | 76" | 94" | 112 130" [148 1/2 55T Ster— 15255177 00 110175
13'6" {51/2"| 16" | 37" | 58" | 79" [100"|118"| 136" [154 1/2" 3.0 Long  |54.10] 78.00 | 101.90
0 W " " " " " " " " 130 |Oak Summit{52.81| 78.00 | 103.19
14 51/2"| 16" | 37" | 58" | 79" |100" 121 142" (160 1/2 53 e o e et
xpsggluTsxgsNAL STRUTS MAY BE ADDED TO DODR WHEN GLAZED FOR COUNTERBALANCE 133 Tong  |55.10] 79.00 | 102.90
132 |Oak Summit|53.56] 79.00 | 104.44
TABLE 2 1372 Short_|54.00] 79.00 | 104.00
DOOR SECTION HEIGHTS 134 Long __[54.90] 80.00 [105.10
13 4 |Oak Summit|54.31] 80.00 | 105.69
HEIGHT |Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8 134 Short | 54.40] 80.00 | 105.60
14" 0" 21" [ 21" [ 21" | 21" | 21" | 21" | 21" | 21" 13'6 Long 55.90] 81.00{106.10
136 [Oak Summit|{55.06( 81.00 |106.94
13'6" [21"{21"|21"| 21" | 21" ] 18" [ 18" | 21" 736 | Shot  |55.40] 81,00 | 106.60
130" 121" [ 21" | 21" | 18" | 18" | 18" [ 18" | 21" 138 Long. |56.63] 82.00 10;.38
— -~ - - - — - - - 138 |Oak Summit|55.81] 82.00 | 108.19
12'6" [21"[18"| 18" 18" | 18" | 18" | 18" | 21 758 | Shor  |56.40] 82.00]107.60
120" 21" 121" 21" 121" [ 21" [ 18" | 21" i310] Long |57.17] 83.00108.83
11| 6" 21u 21n 21" 18" 18" 18" 21" 13' 10 |Oak Summit|56.56( 83.00 {109.44
13710| Short  |57.16] 83.00 | 108.71
11'0" {21"|18"{18"| 18" | 18" | 18" | 21" 140 Long  ]58.63] 84.00 | 109.38
T AN " " W " " w 14''0 |Oak Summit{57.31] 84.00 | 110.69
10' 6" 21" 21" 21" 21" 21" 21“ 140 Short_|57.76 84.00 |110.11
10'0" (21" | 21" 21" | 18" | 18" | 21 1472 Long  |59.17] 85.00 |110.83
6" w O o W w w 142 |Oak Summit|58.06] 85.00 | 111.94
9,6.. 21.. 18.. 18.. 18,, 18,, 21,, 1472 EShﬁzm' 58.85| 85.00 |111.41 REV | DESCRIPTION OF REVISIONS DATE  [BY
Fo [zr ez e Ao 5 v ¢ ot chepons {00/
v - = = ] = 14 4 Short_ |59.16] 86.00 [112.71 B | ADDED GLATNG NOTE 12/19/12 |RR
8 g 21 12 12 12 f; 146 Long _|61.17] 87.00 |112.63 MAX SIZE | _= ¢2
76" |[18"]|18"[18"[18"| 18" 46 [Oak Summit|59.56] 87.00 | 114.44 16" WIDTH | 2% NN =R
o ST o TS5 57w : 46 | Shott  |50.86] 87.00 |114.01 14" HEIGHT | ®F - My, ™ o
7' O" 21" 21" 21" 21" 148 | Long |44.81|%66.41] 88.00 |*109.59|131.19 (DOOR HEIGHT §§ ,"‘\}:\EOFT Y -
G e K K I S S T wetbition) £2 £ Qo e 25
TABLE 3 14" 10 Long |45.60]"67.30] 89.00 [~110.70]132.40 DESIGN LOADS E—i P, X ¥ §§
' 14710 [Oak Summit|61.06] 89.00 | 116.94 +29.7 PSF | SE 2 *: reeenee Lendd) 55
DOOR TRACK ATTACHMENT SPLICE 14°10| Short  |61.26] 89.00 |116.61 ] -338 PSF | 2 7 THOMAZ'L. SHELMERD!NEI 22
g Y v T, [ / G >
HEIGHT[A[B [C[DJ|E[F|[G[H]| S 150 | Long |46.60|768.30] §0.00 |~T71.70] 133.40 TEST LOADS | BE i weng 82
56 o5 35757 = 1570 [Oak Summit|33.63|761.81] 90.00 | ~118.19]| 146.38 445 psF | £2 of. 85829 o7 33
150 Short | 61.04|75.97] 90.00 |103.97]117.94 _50.7 PSF | 82 R, £ o S& s 25
7 10" 21" | 42" | 63" 76" 152 Tong  |47.60|769.30| 91.00 [A112.70}134.40 i 54 %/CENS?'G\\\ i SE
76" {10"| 18" | 36" | 54" | 72" 82" 152 |Oak Summit|34.13][462.56] 91.00 [A119.44]147.88 LARGE Y \\ sSIONA\_E“.:-" §3
g [0 2r] 39| 57 75 88" ey B [ B3l 52 00 [ B[ 75 eacT | £2 K0 TN b
- 0 0 0 g 0 W ong . : .00 {*14. . == 3]
g6 |107] 21" a2 j63 8| 94 154 |Oak Summit| 34.63|763.31] 92.00 [*120.60] 149.38 RESISTANT 5 TX 83
9 [10") 18" | 36" | 54" 72" | 90 100" 15 4 Short _ |53.60] 79.20 | 104.80] 130.40
96" [10"[21"[39"| 57" 75" | 93" 106" 156 Long _ |47.60|"70.30] 93.00 |*115.70|138.40
10° 10" 21" [ 42" 1 63" | 81" | 99" 112" 15'6 |Oak Summit|47.42]~70.21{ 93.00 |*115.79{138.58 a, ’
— R R IN RyT v T - = 156 Short  |46.62]%69.81] 93.00 |*116.19] 139.38
10? 1O-~ 21-. 42" 63-- 84" 105" - 118-- 158 Long _ |48.60"71.30] 94.00 |*116.70]139.40 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
11" [10"[ 21"} 39" [ 57" | 75" | 93" |11 124 15'8 |Oak Summit|48.02|A71.01] 94.00 |~116.99]139.98 T
116" 10" 21" | 42" | 63" | 81" | 99" |117" 130" 15"8 Short  |47.62]|770.81] 94.00 [*117.19]140.38
12' 10" 21" [ 42" | 63" | 84" [105"[123" 136" 15"10 Long 49.17{772.08| 95.00 |*117.92}140.83 MODEL #650 OAK SUMMIT SERIES 1000 & 2000
e oo (3 (57 757 o [T [iee | 740" 75" 10 |Oak Summit|48.62|A71.81] 95.00 |~118.10| 141,38 MODEL #600 STRATFORD SERIES 1000 & 2000
- e . — . . _ . - 15°10| Short |48.62|71.81| 95.00 [7118.19[141.38 MODEL #950 HERITAGE SERIES 1000 & 2000
13' [10"] 21" [ 42" 63" [ 81") 99" |117"|135"| 148 16 0 Tong _ |50.60|~73.30| 96.00 |~118.70] 141.40
13'6" [10"| 21" | 42" | 63" | 84" [105"|123"{141"| 154" 12’3 Oaksiu:mit jgé; "ggl gggg :Eg:g ’11;1:2322 . SZE| DRAWNBY  BHG| DATE 11/20/09 DRAWNG NUMBER
T 0 W 0 O W 0 0 o w g o B2[772. X ; X
14 [107] 217 427 63" | 84" |1057]1267|1477] 160 " Stiles 46 notneed 1 be hingsd B[ cEckev By 0w | DAE 11/20/09 IRC-6016-140-24-G
ALL TRACK ATTACHMENT SPACING +/-2" T ‘
WITH SYP NO. 2 OR BETTER ONLY SHEET 3 OF 3




